X -4y+1=0 6Q6%X =
X- 2y=0 6@6mx =
X- 2y —4 =0 6Q6MX =
2X —y+ 4 =0 6@6RX =
X+ 2y —4 =0 696mX =
2x —y+ 2 =0 696my=
X = 2y+ 3 =0 6Q6Mmy=
2x + y+ 2 =0 696my=
2x —y+ 3 =0 626my=
10.x— 2y - 4 =0 6Q6my=
11. -x +y - 2 =0 6@6Ry=
.x+y =0 9980860 QIR 4 626RYQNR =
.X+y =0 99ead6ay QIR —7 626MXQANR =
.X- Yy =0 g97906460x QIR 3 6@6RyQAIQ =
.X-y =0 2Feq6Qy Qe —2 626AXAANR
.X-2y =0 47L0469x QIR 4 626RyQAIR
.X-2y =0 ga7ead6ay e 3 626axQAIR
X+ 2y =0 990486ay Qe - 4 626AXQAIR
X+ 2y =0 2feadeax aale 10 626yl
.2x+y+2 =0 90d6qy QMR 2 626AXQANQ =
. X-2y-4=09020486Qy QIR 4 626MXQANQ =
.2X -y +4 =0 9920460y QIR - 8 626AXQWIR =
.toseadle dn( 1, 1) AMaad3x+ty — 6=0Q AUed QARIG 629 ?
.toseadle dn( 1, 1) AMaadtx - 2y — 10 =09 AQYed AARIQ 629 ?
.tcea e da( 1, 1) 91eadtx+ 3y — 9 =0Q AYes daRIe 699 ?

. kesaa e a1, 1) aeadkx+ 2y — 9 =04 &R 699 ?
.M e ale dieimx+ 2y — 10 =0099aadaaUea adrle (1, 1) 699 ¢
.t AR AR 0, 1) AMIQE3x+ ty — 6 =09 AN AJRIS 691 *?

. p QBRANR AR 5x+ 3y — p =0dALQHAMNSA AARIR (1,1) 699 ?

. koA e diR( 2, 2) Aeadex+dy — k=0Q AUEe AARIQ 699 ?

. MABKAGR ARN(1, 1) AMIAEMx+ 3y — 7 =0Q AMGA ARIS 699 ?
. tBRA IR AlR( 3, 3) AR+ 2y=- 2Q AAYGY QARIQ 629 ?

L 00 N o Uk WD e
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. pRBRATIR AR 2, 0) AMEQdpx+ 3y=2Q AT AORIA 6@] ?

.(-2,3) Ggfsnecea dlesq 2996 |

(2,-3)3g86necea dlesq 2936 |

.(2,3) fafsnsiceq dIP6q 2GS |

(-2,-3)8q66ns feq AIP6022g6 |

.(2,0) 8f6me G0Q dle602236 |

. X+ 2y —3 =0 3x+ky = 0 INQQE QAU QARIQ ANR6LER . ‘K’ AR 6666

. 4x-ky=5.2x-3y = 129118 Q¢ QEARRY AJRIQ AILER6R . 'K’ AR 6966 *
kx-y-2=06x+2y—3=0aMeQd QAR QARIQ ANN6QEM . K’ AR 6666 ?
kx+ 3y +8=0,12x + 5y — 2 = 0 AAN1@QE Q€ A6 G 6T 6Q6M . K AR 6866 ?
kx+2y=53x+y = 191006 Q€ A6 G A6a 626 . 'K’ AR 6866 *
x-ky=23x+2y +5=0QMeQd @€ 6% B 6] 6Q6M . k' IR 6066 ?

. 2x+ 5y=17kx + 3y =14 AMMQQd QEGEITNARIA ATR6QER . K’ AR 6866 ?
 Ax +ky=5.2x - 3y =12 QoN@Qd QEE6IEN QRIS A9R6Q6R . K’ AR 6866 ?
kx+2y=53x+y =1 QoaQéd QeeIEN QoRIe A9R6Q6R . K’ AR 6666 ?

L aiX + by +€.=0 G ax +biy+c; =0 AMNQQE QAAARY AVRIR AR deFa’'d ?

. ax + by +€,=0 G ax +bay+c; =0 AMGQE QUALEAIRIG AR QTS ?

. 7x-y—5=0,21x- 3y —k =0 AoN@Qé QEALEHAIRIG ATL626M . ‘K AR 6966 ?
kx-2y—6=0 4x+3y+9 =0AMaQE QAL EIAARIR ATQ6Q6M . k' AP 6966 ?
X +4y +2=0 2x+8y—k=0aMaQE QUALEAINIR AFR6Q6M . 'K’ AR 6966 ?
.8x+2y-9=0 kx+ 10y — 18 =0 Ao11@Q¢ Q€ A% B HEQSIRELER . K’ AR 6066 ?
.5x+2y=k ,10x + 4y =3 QNRQE Q€ A G FEQIRELER . 'K’ AR 6R66 ?
kx-2y+6=04x-3y+9=0a9Maqd Q€ 4o 3 FEANACLER . K’ AR 6666 ?
. 2x+ 3y=5 6x + ky = 15 Ao11@QE Q€ A6 G FEQSIREIER . 'K AR 6R66 ?
kx+3y—(k-3) =0 ,12x + ky —k = 0 Q911@QE @€ & B QYRR . K’ AR 6966 ?
.5x-3y =0.2x+ky =0 aNMeQd Q€ I8 G AGQEP6M . k' AR 6866 ?

(tx+2y =0.3x+ty =0 AONRQE @4 & G ARQERER . 'K AR 666 ?

. aiX + by +€:=0 G axx +by+c; =0 ANGRQE QEQAIRIG AYFIe AR AGFFE ?
.8x+5y-9=0 kx+ 10y - 15 =0 QMR QEAIIRIR AANL6Q6R . kK’ AR 6866 ?
kx+2y-3=05x+5y-7=0a9Ma0¢ QEAARIA AAFR6Q6MR . K’ AR 6666 ?
.X+2y-5=0,8x+ky-10 =0 Qo1 QEQQRIQ AAIR6Q6M . K’ AR 6666 ?
.3x-4y+7=0 kx+3y-5=0a9Meqd QERII626M . K’ AR 6966 *
kx-5y-2=0,6x+2y-7=0aMed QOUATE6Q6M . k' AR 6666 ?
kx-y-2=06x-2y-3=0aMaqd QEAATE6L6M . K AR 6R66 ?
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67.6x-3y+10=0 kx-y+9 =0 ANeQd QIQENAIATNIRANLRE6L6M . 'K AR 6@66 7

68. kx+y =5 3x+y = 1291004 Q98 IOARANBAELER . K AR 6866 ? Pratnam

69. 2x + 5y=0,4x + ky =0 Q1QQE @€ AF6 G A6R 6Q6M . K IR 666 ?

70 2 |eGeadialg 6966 ?

71.[5 Tesie 666 ?

72.|% lasie 6a6e ?

73.|% J|osla 6@66 ?

742 legie 666 7

75.[5 7lesie sa6e ?

76.[7 lesie 666 7

77. %2 Z‘g|aﬂ|9 666G ?

78.|72 Jlesie 666 7
7 ilesia sase ¢

80.|2 Jlewle 6@6e ?
. 2x+3y=53x+y= 449AMNGAE QAKRINAF AIRIEAIARINFERAQAIR 6R66 ?
. 2x-y=3, x- 3y = -1d9Q7180Qd QUQRNAT ddIRIEAIARINFERAQIIR 6966 ?
x-y=0,2x-y =3 dedNead QEQRINa& AdIRNEAAIRIASERAQINIR 6866 ?
. x+y=3, 2x+3y = 8 JRUANFQE QYR YIIREAATRIAKEAAQINR 6966 ?
. 2x+3y=5 , 3x+y = 4 AQAMGAE QUL AIRIEAIARILKEAA, R 6R66 ?
2%y =3,x-3y=-1 d9a91ead Q99aIaw ddIRIEadARISSENA, Qe 6866 7
x+y=3,2x+3y =8 dQNFE QEQRIAOF FIIREAAIRIFFERA, QIR 6866 ?
x-y=0,2x+y =3 deANGQd QUQRINa® JdINEQIAMRIFFEAA QIR 6866 ?
. 2x-y=3,x- 3y =-1 4904 QAQRINaw dAIREAIARIFRERA, QIR 6866 ?
. 2x+ 3y =5, 3x+y = 4 A9AMNRQE QALRINw CIREAIARINKENA, Q9IS 6866 ?
. ax + by +6,=0 @ a:x +biy+c, =0AMKQE QRN IR UAQACAARINR 6866 ?
. aix + by +¢:=0 @ ax +by+c, =0Q91004 QUQRINOFT a1 AQERA, AR 6866 ?

@) @9 () @9
. 4% 8 AEade CA b _a

a2 bz C2
. d9ofe a; —C1|

a —c¢;

. 46k G 469 a1 b1
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